1. 9 f(x) = 2x— 19 5t f(4) 9 2Ee?

@D 3 o 7 B 9 @ 11 B 13



olste] A%l 1L, v o] gol a,b e T, (X, ¥) 2 o]2o]

Ae Mg B H A a1=w?

@ 870 ® 970 @ 1070 ® 671



® A(-2,0)
@ D(1, -4)

Sy

@ B(4, 0)
® E(4, -3)

® C(2, 2)



O AAHEH @ A2AEH

®
=
>
g
2

@ A4t



IS)

shy =" o 2em A4 A (2, 6) 7 A& Woat b

® 13 3 15 @ 17 ® 19



A= 3000 9olth thE K7

200m

g
(@]
S
! )
cEEEE
<
- > 3
<P =
oK
@u
4 =
=
my

<

il

Z & Hlo

T

o

Ho

A ] el

_‘|

ol
o

)

@ %

<
ol

B!




T. F & f(x) =3x-1, g(x) = x+1 | ko] £(3)+3g(1) o] 22

D 8 ® 10 3 12 @ 14 B 16



8. F M A(a-4, a+b) 2} B(-3a, 2a)7F YAl thoto] L uf,
a—b 9| & oozt

B
=¥



>
A ©
P —
> | @)
1
! S omiw
! _ _
| Il I
! >~ A
---o_o @ ©
x
— | =
[
Il 1
~ o~
© ©



10. oh 2”2 y = 6x O] T molet, [ | Qtof guke 5 Fafefat

yl\
-1

Ry

0)




)
N

B 2

@ 1



y = ax(a #0) 2] 2 Lo et oh5 A T &A1 92 A7

® 9HE WEA ALhe 2 Ho]e,
@ a>09 ), A 1,34 L A H 4o},

® a <09 W, xglol S715HR yghe Fashs 4ol
@ y = —ax ] TP} 5 Aol A whyitt.

® a7t AAT Hu|d e mol}.



13. y=ax9 IHZI}t = 3 (-2,4), (b,-2)E A ™, b 2] 727

D =2 -1 3 0 @ 1 B 2






15. A A <a, —2), 9, b), (-3, =3) o] Ty = - _4 e 9] Hol
o] 4a + 3b + ¢ 2] & FoFH?

O .

@D 2 ® 4 ® 11 @ -4 G -11



